K-S Ryder Cup 2017
Tilanne 17.7 jalkeen

Greensome tulokset

2

Kentta

LIRS 2
o|la o o oY
0|~ « ]
o
©
8
ol2 2 2 ola
2O — o o+
o
RREEE]R
o|lp|N ¥ o S|e
S
wM
IR 2
glo o o Sle
=
NEEEE R
Sl ¥ o o«
olo E
5|2 0 2 |2
s|2 2 3 E|c
Ec 8 9lo
£ o 2
Ele 2 ol
== 0 = c=
o|lo = © £|=
oaln O Znl>
o 0 ® ™~ 0 < < ™ < o - N
2N© N~ SN ~ N ~ © ~ N~
<~ [N To) © O < o o w ©
L O~ o O o & @ > @ o
o -
™ o~ o - o
~ ~ ~ ~ ~
') ™ o~ ™ -
Qe Qe Qe Qe Qe Qe
o« o o o o - - [SEN o o
PlRlo w] w| |®]w o] w] |®]|v ol-w] |2« w|-al [®]¢ ] w] |®|o o|low
o]~ ~ ~ ~ ~ ~
Blo o w Bl o] w Elx o]s o Blo o]s o i OV Al TR Blo o]0
Sl o] vl |Blewlow] |8|e of-al |8]x v+ o] [E]e w|t al |8y w]|-o
TR0 ot ] L]~ ~lo al |2]o o]lo ~| [2|o o]lo ] |Llo o|lo ]| |Llo o|lo
=
Il ol ] |T]|e <o o] [T]e vl ]| [T]o ol 5] 1T]e oo 5| |T]o vl
Ms ™
Qlx <tlo @] 2|0 vls o] 2] <|5 o] |12]|v vls o] 2|0 wlo T] |I2]¢ vl o
LlNlo mjo @] |9~ o= <] [Q]e ol —| [Q]e <= ~| Yo <= 5| Y] |-
7“u550n,~_u bl LN A2 =|ov wvlo ~ =|o olo o sl wlo =low|T ¥
2] vt 2| |2]o ~|- <] |I2]c ©]o ~]| |2]o ©]|o of [2]o ©]F ]| |2]|w ~]|— %
m95447__ oln Ol ™ oIt F|o — ol t|o o oIt O« %7 o~ <7 ¥
Yleo|o ©olo oo olo ~ wlo <[5 ~ w|o wv|T o oo of— ol|w +|lo @
Ol ~|- Nlo o) NJoo T N ~o ~|T — N~|oo |5 @ Ll el AN
Olo|m m]o ol vlo ~ ol ol » oo |~ ol o oln o|lo
Nlw|w v]o wlo o5 ~ wlo u|T ~ wlo < |5 ~ v v|jlo o vl
M43309__ <|m njo N Al SVIR R p) | |~ N | Nl N <o N5 @
Ll |~ vl q] oo o]~ o] |ols o] | oo vlo ~]| [wls o|- T| |eo|o <5 o
Olao wls o o ~ ~jo oo ~ Nl o ~ N~ o] o wlo T
Y+l <o o ~|o olo o o~~~ | w]lo o ~|o w|T T o < |5
2] [© o > © ™ © S © © © 0 O
%) - N - - - - - - - -
<
- o~ © < 0 ©
E gl o £ £ Ele g P
- ™ o N ™ e
£l- 0 Sl 3 £l O £lo o £lo 3 £lB 0
>0 @ >|0 >0 © >la @ ) [ >S9 ©
(4 =] ls = Xl|sS X 4 =4 rlo = r|= o




